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EXAMPLES:
Al. Sketch two labeled triangles that are SImllar by the given similarity theorem and give a
similarity statement.
a) SAS Similarity Theorem b) SSS Similari‘g Theorem
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A2. Sketch the described triangles. Explain if the pair can be similar.
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A3.  Determine whether or not the triangles are similar and give the reason for the

determination. If they are similar give a 51mllar1tv statjent and a sta;ement t of
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A4. Determine what two triangles are similar. Give t escale factor. Z\DCG ~AEC FJ
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AS5.  Use the figure of trees to find the length of the tree
trunk leaning on the upright tree. \r\ ‘ Q,
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